o
=

2022.9.23(F)~9.25(Y) / AISUZMEf 3

2

T EERE HE2@) [28AZH[AciQlg | FHAH Hu
uiﬂ% yEr R 7hE3} ebi st M 22| E[0f - olMis0l T2 8,000 2402 - oy AR
7%y e EREE] R & Aar A B2 vl2HEo] Al s Huf2|7| of 3 - 208 159 A | APE™ES 9.1(2)~
A BEX 6l SE SXloll MAlsHE A2 - - 158 5M[0] &
NSO (Mesta s 3a)[Re ) o e s == 2 202 158 | sMol4
HEMEf S0l (SXIME] I2) [ B0l el sjHS E0 = ol =203 22 408 1598 [ sMlolet | AAEE= 9.13(3h
A2 FYR| 2ol MASHE 54 E 1,000 208 1298 | 34014
A BHatag| Zeolet =HAUEZ & 2 ol 3,000 208 129 SN0 &
ZH:E;I&EK' AHExiolels FIIEREETAe olgg 2,000 20 129 [ 3M014
=el= ) Zulateldal 7| AZo M 20j2E b} 2lof of 4,000 xHe HFEEEE
ABFAAR = Het 3o sy ZAMels 7B e 109 HHg
ol © ™
RE27t A B0| HolE TC|Woll A Afede| 2|5 E00 & 2=z 1A 2 209 [ 7MI014 = jrtgi/(;)“ =
U BEXUSE = A BMEfFol+ BHET| M B 171X 2
~ZRoT|HH A S ARt B AE 23 308 208 | 12MI018t | Y ME= FH
LFEE ST 232 s & sietol 18 £5 A= 209 P
LFLEE0| ~2golgst ~B=0| A 22 e 209 s
A2 oo 9 MH| =, mjats SollM = 22 WE=s 209 HAY
2250] AFEZE0| &3 oM =322l 22 e 209 A
E{ L2BREY <ET> 3 &3 QoM E7|E £5 A= 209 | 14M0]5}
222 EE <BI> o gl 23 2ol ol 2of{x|E 22 A7 22 e 2098 | 14Ml015t
SFN 2S5 Megoz obY|S ghED & Entl] 28 g 209 Moy
o B | 7| QAto| 22 bj £ pHS0f 7ot o 232 g 208 | 3M|0|A
227 237", 2Folo|232 S o AE 3,000~5000 | At& - psE
2ol 3Hx|oHE Y| SitR ol 2 S o] 85l MEE B f£5 1082 209 5M0| &
2o o1 5 Al ZYE 0| 85l0] &5 2 FMSE A E 2,000 108 209 SM0| 4
2ty x|l g Rt Y| NEZ EALSHE olopr|ol Bhxlelg g pte 5,000 208 1098 [ 7Mlof &
=0[E{ ZT 2 A 2HE Y| 2 E HolM ZeM 2 S at=E HH 3,000 208 109 Moy
2o 3RS 7| Zrjot 22 o| 8510 saS BlEE HE 3,000 208 109 Moy
ZHo S8 A Z) £ o| 85t0f ZlEH SRIIHE tEE HH 3,000 208 108 Moy
o Zoheohs | oju 2 23S stEs B2 e Boiits 3,000 208 108 Moy
225 EET| Za|MEE 2o A7 Eof Zo} a2 3,000 208 108 Moy
ze|augA Ze| )T et E2to grE = oA 2,000 208 109 Holgy
_ﬂo%é TEREE AES 2ol 8@ AT of Sk 3,000 208 | 108 | Aog
=
24 AFREE 7 sluiEp| 2e F $2E 5 El1 Sot2 e & 10,0008 308 3208 | Y [AMSZAIBA Y
=TS (i} o =<E T T = T = = = (A|B7,OOO%) ey [iySy (M) =) o T o
NBZHY=Z2YE HBME Aol AEg £=2 - - A
EARtEEABYENZ Y A Boll MASHE B4 3,000 15 6% 13M0]5t
Az== PEENEEE TEEEEEEE 3,000 ENEEEECE
—EZ&IE{ ABe2dHS HBo| HMAZT A 4,000 158 8d HHE
A s A B2 £ote =13 5,000 302 8% oAy
ABE2ols o|E 2o Tatx[of % 5,000 1AIZE 49 8MO| &} | AAME < 9.13(2h
HEM 20|50 3| AlZo| e EE FX Mg fEste MR 0 22 - - REE
Egmz A B Efe A A BN BMEfZ YD} £ 22 S O|X| QtL{oY
a3 AU AR AL 3| AE "HadEe 79 =y 9.25(2) 14:00~16:00
PERRE P EPE R e 22 208 I ECER
T2 EXEET HEE () Azt
of FAEI S A Sota} Rpodo| Zatofl M BH A= Of FAE 22 9.24(E) 17:20~19:50
Zojo 0fFAE SO | oDo=E HACE B SUCE a2 9.25(%) 17:30~19:30
N N o o co oz 9.23(2) 11:00~14:30
9 TS AEsd AIFHEE M 5= B 9.24(E)~9.25(%) 11:30~16:30
~FED AHIE Aol 2582 FH 22 9.24(&),9.25(%) 11:00~14:30
L2 SelA ZoiE LR SolM e 2 22 9.24(E),9.25(2) 11:00~14:45
AZDJEA SrE DL AE5tT of 2= 9.23(&)~9.25(8) 10:00~16:50

W HEZE2 1M 25A[ZH: 10:00 ~ 17:00
HY=ZZ2IYES 25 17:.000] Z2ELICL)

mHEES MY TR gRIRIBYLC

AlBAIT2 EFERTAH MY Rt 30%

8 =2 A

HYzE da £ ASAgztE ARE 83l X2 7ts=H T
ASE2, AY, HSSKHEH, H=87t USEZLE0/HE

HEOIM Mo Tf7|YELS W a7

2907 HHE,
ol
0 met HE7Hs
S AIZHE S XpASH A|2H2 ZHO|X| & ZQlsiFA K.

SHSZHN 7L E £+t /031-380-5677, 380-5679

L |:|-_(I',;+LH HEXL
WEFAANZIE HEQ7E T2 AWML 9/24(E) ~ 9/25(2)0f 7

YAIE 29417 Y A TfIYS B wE




